3B (A) 48 () 58 (k) 68 (K) =163
BB Bad —ANEY | [#iz Bad —ANEY | [wus Bmd —AHY | [#s Bmd —A&Y | (wus BRd — A&y
FHERDE FERDE FHERDE FH®RDE FH®RDE
HoEEXER) 66| | X |HEX(EH) 60| (S [HEEIK(ER) 72| |/ |HBEX(ER) 60| [ [y~ 50
N TE ST K] e T EENE S 70| |1F ek (EH) so| |V [mExE®) 70| % |[ayssy 60
Y [ruzE an of |l [rrzE zm o |V [saiex 05| |2 [xmz Z o |5 [ER® 6
g |RHE B 7 KiiE B 7 |k L |[RaE EH 1| |17 |EHEB ke 4.5
A |EEERIEXK 05| |4 5 | @0y EERe 25| [z N | R 3
~  |KEAHFDHOD 1.9 |L |45 206| |1+ ~ |#Em@Ex3mz512) 20| | (#EFTEV 1
%= D |FE 206 |£ |LedLrd 50
AEE] 206 ;; e R NS so| |F |42 206
\J/ L () LhLBIE BT B 50 * BRI (2 X 26mX 54 R) 15 % AS 10| |7
BFAMzF 25| oo |BHH 4 2 BE 2| |_  |zurEax3x0. 3mm 6l |z ) AEAZ 30
# [HEBEF GBI ke 30f (A |E= 12 £E 06 R JIIE—R 5 (¢ [BX 40
5 |X4E 70 |E|L&SW 28| | [IcAl= 02| |& |iIzAlz< 03| |l& |EE 20
AZ 5 'gf e 28| |2 |BETE 55 (2 [543 1| [V [EdookEc—1) 10
K |owapuaita s00g 5| g |#Y4 18| € |E& 40| | INE 51 1€ (A3 10
’ ez 0.3 B 18] |2 [Foroya 20| |8 |54 4] A [ppz 5
g) Ly | |FE [TASA 0.2 }: AS 15 ;C () h=Ea—L kg 15 /\:, &/ (8~10cm) 3
S |LedW 5| |A [i% 4 |5 |EHOkEGR—L) 10f [ [EOFIbKE Tke 1ol |-~ [&= 0.5
» |[=RE 3 g o |CEM 08 |5 |[@sre2—7 1ke 3] | |@r2—7 ke 4
I |HYA 1 |12 |revziscEmmse 5/ |47 |[HHE 3| | |FESESHE 2| R [L&IW 2
O [EE | |z [WFEaE 30| |~ [ 2 HRE—Y—R 2| || |[FEravys 0.5
Z  [cAs4 09| [r [BEL 25| | [L&SW 2 B85 o1l |7 [&& 0.4
'g = 20 I( AS 5 o’g FEFasy i 0.6 N=}:] 0.5 5 ) 0.03
= ;J L&S5K0 2| |z |EHE 0.03 FErayHA o5 |5 & 120
(LM 2 8 OL—2) 7 ; BEF 15| |z [TASA 0.7 ML 0.15[ |
= |ax 2| |5 |LERE 1 v B 20 ZL&S 007] [ [F¥Rv 30
T e 20| | [HSFH 05| |f= o—yzx 01 |V [wroway-—owhes 20
# |AB 5| |2 [CEm os| [ [Em 25 EY¥RF—X 150 [ [Az 5
i e 13| | [BYBSE il . [Az 10 B 80 j‘; (&) h—La— 5
5 |BEF 1.2 f} o |EeE 5 2 |am 25
w  |TELE 12| |z b 1w 5 | |Funrd@s42) 0.5 &3 206| |5 | LEIHE 1.3
n  |LeIY 04| |L [EE 25| | |HEEH 1 L& 1
& |BE 02| [x [AZ 71 [L |L&SR 1 (82)BEIVIR 1 YSF 0.5
Y ® o |hhRE 5| [t |&i& 0.5 FrRyY 30 & 0.3
& D gFLAR 25 BIYE LA 4 Zp>Y 10 ) 0.03
= ‘7% HHE 55 HUE 1 () h—)La—> 7
i |[HAE 5 K 135 HYBIE 1
ZFL LA 4 Bt 25
g [k 130 L&KW 25
) IS=t 1.2
2 A E#nE 5 CEm 0.5
" H55 i 0.5

-
=
=

(¥S+H




10H (H)
Bk BRf — A&y
EFHROE
t | BEXER 60
Vo saxk(ER) 70
;_ KHE EH 6
o [RHE FE 7
N
~ %3 206
=
Z At (2 x B3emRS5/R) 42
E [Lesw 2
Ao EE ]
T 30
4 [HELIEFES 10
PN 10
1I2AIZK 1
A et 0.5
A oxm 1
g =R 15
L L&SK 1
A aAFT 0.5
z |EFShAE 25
D [EwdY 20
B 0L 10
B [fcmh a1k 6
E‘;L LS 1.2
| ZFEih 1
-5 | LB 0.5
WYBIE 1
(B) FB5E DY (4%) -4 24
(B F5E DY (680) IN5-h 3.6
RULRNL (G BkE 5
EH 25
OALULAR 20
ADE=1T 7
AS 7
P 5
BS54 0.5
() ABR—F 1ke 4
FARZ—Y—R 0.8
L&SW 0.5
FEaAYA 0.4
BiE 0.4
L&D 0.03
b 120

12H (k) 13H (K) 148 (£)
k4 BR% —AHY | (@22 BR% —AHY | |#iIs BR% —AZEY
ERDE ERDE ERDE
< BAkER) INRERREIEETYY -3 150| [ [avR/y 50
& Imek (B8 80| | [ hEDHA a6 200| |V [3wsiy 60
A (e 05| |= [@wmaEss B 250] |
4 5 |BABEex2mx542) 20/ |, (E)WESDr L 15
MENEE] 206| |y BB 1
5 |&= 05| |ov &R 206
5 e M- RAL (2 x 2m) 18] || Bl 0.15| &
< lmm se-mtLexem 12| [* [SL&D 002| |S  [4P3(2emfH) 30
A 1| |~ |%5s(3mm) 5| [ |y55m 1
;’ 5<h P ET 30 Z o—yT 0.1
RS AITRL 30| |g A 20| [EE 40
5 |FEVLIES 30 T2 DIk h—L) 12| [ |K3R 25
y |AZ 15| [h |AB 7| | [FEeAY 20
o [ELDHRAZA 12| | |FLLLEFERSAR) 11 o | AS 15
A | @)EnalfA 5008 5| [V [ 5| [  |E—v 10
b [cEm 15| |7 [L&3W 51 [~ [=aY 3
A Lesw 4] | (B)HDX—F 1kg 4 # 3 ) 0.3
3 o XA 3 | | FEraLUA 05/ |z Y355 M 1
| [CASA 07| || B 0.5 (B HBR—T 1ke 4
5K 6| [5 |ZFmH 05) |/R [@WrertrFryT ke 4
L I Bif 03| ()b |[@WrzrEa—L 1ke 4
b EREYDHA 2| |7 |TASRA 3 |V | ERARESHE 2
n EIET'E\* 30 i’ i 120 |7 [FErasux 05
th /)JCL:;& 23 o = " ?iﬁ _ 0.5
o 3 th 2L 206| o |SL&S 0.03
A |[LESW 23| | x |& 80
< |RUEE 1| &  [EShAE 25| | &
Nd=}; ] 05| |~ [B%L 25| [F7 [(LMFESCAHHE 10
AS 5 |‘\ SARF—K (4nnfh) = 5
(B)I—Y Ik it 70 WYBIE 1 12 |FEvRYy 30
L&S 25 f; =p>5Y 20
Bt 2| |5 (BL)ULE 0.8
LB 15| |y |BEE 2.2
CFEih 1 Y54l 1
oL 0.05 L&51 2
i=f: 0.5
(@) =—>—h# 35 ZL&S 0.02




178 (A) 188 () 198 (k) 20H (KX) 218 (%)
BB Bad —A&Y | [#is Bad —A&Y | #uz Bad —A&8Y | [#iz Bmd —A&Y | sz Bmd —A%Y
ERHE ERHE ERHE ERDE ERDE
S EEEEIEES) 72| X [BAXER 60| (X [HEEX(EH) 59 (3 [TvRsRy 50| [ [HEEk (B) 59
& [k @Es go| B [mExEH 0| |2 [kuE BE& 6] |V [ayssy 6o | [REIE Bt 6
A [eEaiex 05| |9 [xEz =x of |3 [tk os |7 n [mestx 05
4 + [RHE R 1 |4 lomse messioxom 9 [, |#E 206 |= |BEXER(IecmAYIY) 15
g, 43 206 | = o |emmm ttemmLaxim 6 b t=lF D 2k E (h—)L) 10
& 43 206| (= CR)REKE 15| |4 B 8- EBL (2 x 2o (BNRE) 12 3_7; (B TERT ke 5
) BAFSGIUF 12| |C A BT 5 |%L 8 bt mAL (2 x 2om) (BIIRE) 8| |« fhE 5
o [&E i| & [~=ar@Em | |V [Az 7 BAESHE 1|2 Frnereem 05
B[4 EBEhob) ke s0| |A  [aom 30| [© [T ik 5] |V [x—a GEfm 5] |2 [C#m 1
T lahvenirs 0] |3 [xa& 0| |, [ 1% [Cetvs 5| |z [EE 4
P EY: Bl 7 A 10] |z BB 16 | |[EH 40 |A  [L&SKW 4
= |Lehbd 30| | |FLLLEHRFAR) 08 L&KW 16| |5 |AB o] |Y |LtEs 0.8
o |AB 10 |z |$h&E 5 | | EB%E 08| |y LAR 15 [T |Bi& 0.3
& |DEAITRS 10 [IX |H355iH 1 (A [BIE 0.65| | | TULF(1x3x0. 3om) 5 |4
b [wEevaira s00g 5| [A [LeSK 35| [& L 955 R ER G 206
D gz 1| |~ [#YA 2| |® (43 206| [~ [MEH 4
+ Y54 H 1 # =R 1] |* z INFZ— 2 tl KL RAL GEH) B3R 5
o [LedR 4 |z |BIE 025] |= |[(LRM)ECHHE 10 |7 |¥2%H 1|5 el 25
L | 2.2 cL&S 003| |p  [EXRY 30 ) M5~ ke 4l 15 [EwdY 15
A [TASRA 05| |h [FEraLUA 06| |y |E=Ew3Y 15| [ | FERLaVA 05| [ [AZ 8
T & 20| |[A [TASRA L 0 P O G 7 2 | 2 % 8| | |BiE 04| |5 |[E—=2v 5
i 50 A 5/ [8 [SL&S 005| [¥ [L&SKW 25
BRE M EES (15) 4| |~ N & HHER os| |Y  [BEEAEE 1L 30| |. |&E 2.5
B FLEA 25) |7 |uscsozamsmnina 35 j; WYBE 18 FAR EVIEIN 1] |3 |LE 13
KR 25| |5 |t 4 |y LR 22 EYRAF—X 3 |5 |=FH 1
A 10 BiE 015 |7 |BEE 2l |4 [B=UT 01 |= [l 0.06
PR 5 |& + | LB 12| (2 |3 60| |&
pHZ 55 [N |[BARTE 25( |1 7 - |(LM)5FEEke 20
HHAZ 5 |C =3 25] || (48 (2omfy) BREAL 18] B |whssammor—n 5 {} E# 25
ETL £LA 4 |® [rz 1| |~ [&E i| ! [eny | | (A2 10
2 110 g EADE ke 1 g]\ EE3 30 ; RO EHHEERE 20| | [FuFUHA 10
A ([ 22| | [LeAiLD 25 () R—a—y 10| | |ZDELT 7
o |REE 1| |7 |[KBF 6 BEE 2| | &= 05
» - |BHE 55 HI55H 2| |7 [s>5m 05
Z HHE 5 i=t 05| gy |(EHBR—T Tke 4
HLEM 1 Bif 02| |z [L&3SW 0.5
BIVET LA 4 L&D 002 |* |FELOLYA 0.3
7K 100 7 |BE 0.35
A AEKE 20| |F [CL&S 0.03
() NR AT £ — 40 Thih 5] |7 [B 110
fit-taif 2| [in
Ea7aa7 1| |UE)HEIIT 25
=R 3| |
&




258 () 268 (JK) 278 (K) 28H (%)
#RI % Bmd —AEY | |#zz Bmd —ANEHY | &Iz Bmd —ANHEY | @Iz Bmd —AZY
EXRD=E EXRD=E EXS=E EXSE
£ |BAX(EH) 60| | AKX (EK) 52| [£ 2wy 50| |&  [HEX () 60
< |BAEXEH 0| BB [BExE®R L EE ) 60| |= [BAX(EH 70
'{3 KHE EH of [, [em% 20| |7 ‘jj KHE E 6
knEx it 1 g, (82) NG 1L [ER 206 KpiEx Fit 7
&+ BiE 0.6 | 4
g, |43 206| |& |[BYBZE 07| [,¢ |[EBEHSLTF 20 [z, [4EL 206
L v |HERIvTF 10
S [EEOBTRE - 50| [B (45 206 LR UEDYAT Tke 15| |72 low wosw sonson mine 1a 45
& [hsgonzns @ 70| |V SaES 30| |V [£z 1
gi o [RELDY 4 30| |* (A 0] (P [#E 2
7 |REEAEECGED) 4 | M ELAY N 50| | F—<y 4l |3 L&5K 1
n | AR 35| g [(RELHY B 60| || |[L=R» 1|5 [BE 0.2
& |Ep3Y 10| |3 |HfAaih 5/ |v  |I2Al=< 03| (I [|TARA 7
AS 5 R |&EE 0.2 -1 7
P YA LYY B E B 5 i3 Ty 35 l BS540 05| |®
3 |[458m 1| |72 [Az 0] |7 [hEw 1Y [E&EsYsa 2
3[1 YACEE 23| |V [ eEy—x | N = o |& [z 25
PO (95 08/ [\ 5 [2RE—Y—R 2| (- [B®L 20
o |LB%E 1 |5 |[CBEEGH) ke 20| g |BL—=H 08| 4 |AZ 5
5  |BiE 02| [ |EZ& 25| |Lv [ BARESHE 1[5 |sersoyc—iommes 1
14 [SL&S 003| |V |ADELIT 7 |~ [FExravvuA 05| [ L&KW 1.5
3 L & 5| /N |&iE 0.2 B 2.2
v [z 20| || [FEaz 8| |7 [cLes 002| [T [t 1
LNET 5] |7 [waz 3 2 fg Y543 0.5
7 |AZ 7| |n [HLES | |7 [R—arGEm 5 |2 [SEm 05
HiE 5 | [BIYET LA 4 ()9 —La—> 35 |5+
M | FLLLEFRSAR) 05| |l K 120 o 30 =1 25
= L&5K 1] |& (/) h—ILa—> 7 BB 7
- |Bif 05( [~ |EYWEZSHL—T 40 A ) 0.5 NS 15
F A4 05 NE— 1 SEZAleL 7
t [mve £LE 4 HERAL 1L 30 A 5
HLUE®R 1 (#) ABX—F 1kg 4 fhE 5
5 130 FErayL 0.3 L&5K 2
BiE 0.3 BiE 0.5
L& 0.03 BlYET =LA 4
aA—VRE—F 1 HLE#R 1
= 70 7K 120
L&l (BRmEERE) 50




